


















































F = G m1 m2
             r2

The gravitational pull (F) between two objects 

where,

G  = 6.6726 x 10-11N-m2/kg2

m1 = Mass of Object 1

m2 = Mass of Object 2

r = Distance Between the Objects.

m=70kg













































Discarded	
  shoes	
  from	
  the	
  Royal	
  New	
  Zealand	
  Ballet	
  Company	
  

















Message	
  in	
  a	
  ballet	
  shoe…	
  

…so	
  what	
  should	
  the	
  Government’s	
  command	
  centre	
  do?	
  
…	
  and	
  becomes	
  a	
  tool	
  of	
  Government	
  
…can	
  be	
  amended	
  to	
  be	
  weapons,	
  as	
  apolicy…	
  
…Mr	
  Samak	
  Sundaravej,	
  Prime	
  Minister,	
  announced…	
  
The	
  programme	
  aired	
  by	
  NBT	
  TV	
  on	
  the	
  morning	
  of…	
  
…the	
  rally	
  was	
  illegal…	
  
…on	
  the	
  road,	
  caused	
  a	
  serious	
  traffic	
  jam..	
  
Police	
  and	
  the	
  army	
  have	
  to	
  be	
  responsible…	
  
…which	
  was	
  the	
  reason	
  behind	
  that	
  group’s	
  emergence..	
  
Police	
  were	
  at	
  a	
  high	
  level	
  of	
  readiness…	
  
Mr	
  Jutaporn	
  Phromphan,	
  M.P.	
  for	
  Sat	
  Suan…	
  
….former	
  leader	
  of	
  the	
  NorPorChor.	
  
…showed	
  his	
  displeasure…	
  
…he	
  said	
  that,	
  when….	
  
…poliLcal	
  gathering,	
  but….	
  
…people	
  could	
  gather…	
  
…damage…	
  
















